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SN HEXED
HE: HSSCANNY(2ALAB/IS)
Sl MSALRSHEE - 2 (el &
. el (3 ) o .y arol p/E-T" {imE=Eh
34,894,814 34,479,814 415,000
= 4,700,000 4,700,000 0
| 2,528,536 2,528,536 0
= 27,666,278 27,251,278 415,000
(2522 34,813,950 34,393,950 420,000
2 4,700,000 4,700,000 0
| 2,528,536 2,528,536 0
= 27,585,414 27,165,414 420,000
NP 10, 173,000 10,273,000 £100,000
2 4,700,000 4,700,000 0
= 5,473,000 5,573,000 100,000
THMBHSALTS 0 100,000 £100,000
403 XX SIS K20l 0 100,000 £100,000
01 RXISAXEEE 0 100,000 100,000
OESMERSAIL TS (H A 0 100,000 £100,000
AZHS A 10,742,500 10,352,500 390,000
CH X 7,840,000 7,450,000 390,000
307 2I2H0IF 7,840,000 7,450,000 390,000
VIEI=PNES 7,840,000 7,450,000 390,000
OSHMSSAZHNE 2 7,840,000,0002 7,840,000 7,450,000 390,000
=BIEENDIEESE 5,100,000 4,800,000 300,000
CHNRPSHIILSLN 1,900,000 1,600,000 300,000
307 eI2H0I 1,900,000 1,600,000 300,000
02 SIYMBE 1,900,000 1,600,000 300,000
DEHNYSSYILSLN
A 1,900,000,000% 1,900,000 1,600,000 300,000
AZHSHEI X2 2,755,500 2,925,500 A170,000
| 25,000 25,000 0
= 2,730,500 2,900,500 A170,000
M= AI2HE 015 7 043 ) E X & 0 20,000 220,000
307 BI2HOI 0 20,000 220,000
RPN 0 20,000 20,000
REENEENEEIEBEDETEEED 0 20,000 20,000
I8 S M B OHSI 0 E K2 0 150,000 150,000
308 XX EHHISOI & 0 150,000 150,000
01 RXNSHBABES 0 150,000 150,000
mP B EEI=Y R BIE BT e 0 50,000 150,000
HH2SHFU (MSTED) (JIEHIIE) 38,500 43,500 A5,000
ol =2 38,500 43,500 A5,000
Jl= 2l 38,500 43,500 A5,000
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